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Section-A (10 Marks)

Note: All queslio}xs in this Section
marks. A compulsory. Each Question carries 2

(a) What are redundant Attribies? Give examples,

o

(b) Define fully functional dependency in database design.
(c) Define DDL and DCL.

(d) What is Wait for graph. What is its use?

o N

no

(¢) What is lost update problem during transaction processing in SQL?

N

Section-B (20 Marks)

Note: Attempt any two questions. Each question carries 10 marks.
(a) Give the examplés of each Clustered Index, Sparse Index and Dense

Index.
(b) What are B-Trees? 545

Define the Terms :
(a) Network Model
(b) Hierarchical Model

35

(2) List out the advantages of Relational Algebra and Relational

Calculus.
(b) Write down the additional Relation

al-Algcbra operations. 545
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Section-C (20 Marks)

Note - Atternpt amy two questions [ach question camics 10 marks

What are the Inmegrity Constraints in SQL? What are triggers and Active
Datahase? Give examples

Weite down the short note on Senalizability and Concurrency

(a) What is Normalization? Define fourth normal forms for 3 database with
the help of examples

(M) ArclsionR(A B C D E F G H) having Functional Dependencies:

F={ AB3C G2
BC=2D H2A
E2F FG2H)
1 decomposed in 10 the relstions:
De RIABCD). RAABCEF), RMADFGH).
Find o

(1) “Mnmdumwﬁ&ma:w preserving or not?
(u) \l'l‘txhumcdcoommumnlommoﬂony?




